(A7 TH)

3 m M
LEk W 2 BT
wMoE #mo oo MO N R
B MIERTO%KE | # 1E %4 3 T E 2 bt T
ERZHE | 5 m| = o pOReE
1 HRER N 2 24, 079 4,510 28, 589 4,510 0 0 0
&t 24, 079 4,510 28, 589 4,510 0 0 0
23K PRBRRefTE 110 AR GEE
wMoE #m oo MO N R
B MIERTO%E | # 1E %4 3 T E 2 B T
ERLA [ 5 k] = o poR e
1 —egkiRf] 3,842,000 522, 000 , 364, 000 522, 000 0 0 0
FRERAA
#
7t 3,915, 298 522, 000 , 437, 298 522, 000 0 0 0
23K PRBRETE 2T mRAEEE
MoE 8 oo MOJE N R
H MIERTO%E | # 1E %4 & T E %) TH T
ERLHE | 5 k]| Z= O PR
1 — Bl R BR 578, 000 45, 500 623, 500 45, 500 0 0 0
R AR
%
# 579, 020 45, 500 624, 520 45, 500 0 0 0
6% HXME 1IE e R ORI
WOoE M oo M OJE N R
H MIERTO%E | #f 1E %4 # T TE %) TH T
ERL A | 5 K| = O poR e
1 — Bl R IR 10, 000 6, 000 16, 000 0 0 0 6, 000
H R B
14
7t 10, 110 6, 000 16, 110 0 0 0 6, 000

=]
H ) B S
X 5 & H B B
12 F2EEH 4,510 | 01 RAZFE(RER & A T AMEIEZFER 001 BRI 5 2 4,510
4,510 | O1NRFR 52 4,510
(HAL:TF-1)
=]
H ) B Bl
X 5 & B 5!
18 AHAHMBY [ 522,000 | 30—fRULARIRE PR IALHERT 2> 522,000 [ 001 — X HEIRIRE IR 2
KO A4 522, 000
01—t R BRE R AR AG 1 2
522, 000
(AT T 1)
i .
- H ) B M
X 5 & B 5!
18 £ 4B 45, 500 | 30— (50 2 i Are ke B 45,500 | 001 —f B PR IR m AR A &
KOS 45, 500
01—t R R AR AR 2
45, 500
(AL 1)
i .
- H ) B C]
X 9 & B B
22 fE =R AF 1 6, 000 | 16— Mt P IR 7 [E] R felt R ORBRBLIE A 4 001 — M PR BR A PR BRI (] <2

K O8N5 Bk

6, 000

6, 000

01— A PRBRA PRERBUE {4

6, 000

ik 17 ] R R O B AR 5t 2




